This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 17 - North Kincardine

5,477

4

1,096

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David AITCHISON	Scottish National Party (SNP)	1,182
Alastair BEWS	Independent	255
Shirley BURNETT	Scottish Conservative and Unionist	855
Jeff HUTCHISON	Scottish Conservative and Unionist	620
Elizabeth Wilson LESLIE	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	75
Colin PIKE	Independent	527
Louise Claire ROSS	Scottish Green Party	314
Mel SULLIVAN	Scottish Liberal Democrats	850
Catherine Mary VICTOR	Scottish National Party (SNP)	799
	Total	5,477

Candidate David AITCHISON Elected with 1,182 votes, being in excess of the quota of 1,096

This report contains the transfers results.

Stage 2 - Surplus of David AITCHISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alastair BEWS	55	0.07275	4.00125
Transfer to Shirley BURNETT	19	0.07275	1.38225
Transfer to Colin PIKE	16	0.07275	1.16400
Transfer to Louise Claire ROSS	70	0.07275	5.09250
Transfer to Mel SULLIVAN	32	0.07275	2.32800
Transfer to Catherine Mary VICTOR	909	0.07275	66.12975
No further preference	65	0.07275	4.72875
Not transferred due to rounding			0.00950
	Total		86.00000

This report contains the transfers results.

Stage 3 - Exclusion of Elizabeth Wilson LESLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alastair BEWS	10	1.00000	10.00000
Transfer to Shirley BURNETT	7	1.00000	7.00000
Transfer to Jeff HUTCHISON	5	1.00000	5.00000
Transfer to Colin PIKE	6	1.00000	6.00000
Transfer to Louise Claire ROSS	16	1.00000	16.00000
Transfer to Mel SULLIVAN	12	1.00000	12.00000
Transfer to Catherine Mary VICTOR	5	1.00000	5.00000
Transfer to Alastair BEWS	1	0.07275	0.07275
Transfer to Shirley BURNETT	1	0.07275	0.07275
Transfer to Louise Claire ROSS	2	0.07275	0.14550
Transfer to Catherine Mary VICTOR	2	0.07275	0.14550
No further preference	14	1.00000	14.00000
No further preference	3	0.07275	0.21825
Not transferred due to rounding			0.00000
	Total		75.65475

This report contains the transfers results.

Stage 4 - Exclusion of Alastair BEWS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Shirley BURNETT	34	1.00000	34.00000
Transfer to Jeff HUTCHISON	7	1.00000	7.00000
Transfer to Colin PIKE	115	1.00000	115.00000
Transfer to Louise Claire ROSS	12	1.00000	12.00000
Transfer to Mel SULLIVAN	31	1.00000	31.00000
Transfer to Catherine Mary VICTOR	31	1.00000	31.00000
Transfer to Shirley BURNETT	5	0.07275	0.36375
Transfer to Jeff HUTCHISON	4	0.07275	0.29100
Transfer to Colin PIKE	4	0.07275	0.29100
Transfer to Louise Claire ROSS	6	0.07275	0.43650
Transfer to Mel SULLIVAN	4	0.07275	0.29100
Transfer to Catherine Mary VICTOR	25	0.07275	1.81875
No further preference	35	1.00000	35.00000
No further preference	8	0.07275	0.58200
Not transferred due to rounding			0.00000
	Total		269.07400

This report contains the transfers results.

Stage 5 - Exclusion of Louise Claire ROSS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Shirley BURNETT	8	1.00000	8.00000
Transfer to Jeff HUTCHISON	4	1.00000	4.00000
Transfer to Colin PIKE	34	1.00000	34.00000
Transfer to Mel SULLIVAN	96	1.00000	96.00000
Transfer to Catherine Mary VICTOR	146	1.00000	146.00000
Transfer to Shirley BURNETT	1	0.07275	0.07275
Transfer to Colin PIKE	2	0.07275	0.14550
Transfer to Mel SULLIVAN	16	0.07275	1.16400
Transfer to Catherine Mary VICTOR	44	0.07275	3.20100
No further preference	54	1.00000	54.00000
No further preference	15	0.07275	1.09125
Not transferred due to rounding			0.00000
	Total		347.67450

This report contains the transfers results.

Stage 6 - Exclusion of Jeff HUTCHISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Shirley BURNETT	551	1.00000	551.00000
Transfer to Colin PIKE	34	1.00000	34.00000
Transfer to Mel SULLIVAN	23	1.00000	23.00000
Transfer to Catherine Mary VICTOR	1	1.00000	1.00000
Transfer to Shirley BURNETT	3	0.07275	0.21825
Transfer to Colin PIKE	3	0.07275	0.21825
Transfer to Catherine Mary VICTOR	2	0.07275	0.14550
No further preference	27	1.00000	27.00000
No further preference	3	0.07275	0.21825
Not transferred due to rounding			0.00000
	Total		636.80025

This report contains the transfers results.

Stage 7 - Surplus of Shirley BURNETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin PIKE	348	0.24782	86.24136
Transfer to Mel SULLIVAN	444	0.24782	110.03208
Transfer to Catherine Mary VICTOR	21	0.24782	5.20422
Transfer to Colin PIKE	2	0.01802	0.03604
Transfer to Mel SULLIVAN	2	0.01802	0.03604
Transfer to Catherine Mary VICTOR	10	0.01802	0.18020
No further preference	642	0.24782	159.10044
No further preference	15	0.01802	0.27030
Not transferred due to rounding			0.00907
	Total		361.10975

This report contains the transfers results.

Stage 8 - Surplus of Mel SULLIVAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin PIKE	374	0.02651	9.91474
Transfer to Catherine Mary VICTOR	197	0.02651	5.22247
Transfer to Colin PIKE	130	0.00657	0.85410
Transfer to Catherine Mary VICTOR	13	0.00657	0.08541
Transfer to Colin PIKE	4	0.00192	0.00768
Transfer to Catherine Mary VICTOR	18	0.00192	0.03456
Transfer to Catherine Mary VICTOR	2	0.00047	0.00094
No further preference	441	0.02651	11.69091
No further preference	301	0.00657	1.97757
No further preference	30	0.00192	0.05760
Not transferred due to rounding			0.00514
	Total		29.85112

This report contains the transfers results.

Stage 9 - Exclusion of Colin PIKE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Catherine Mary VICTOR	134	1.00000	134.00000
Transfer to Catherine Mary VICTOR	50	0.24782	12.39100
Transfer to Catherine Mary VICTOR	14	0.07275	1.01850
Transfer to Catherine Mary VICTOR	87	0.02651	2.30637
Transfer to Catherine Mary VICTOR	2	0.01802	0.03604
Transfer to Catherine Mary VICTOR	48	0.00657	0.31536
Transfer to Catherine Mary VICTOR	1	0.00192	0.00192
No further preference	582	1.00000	582.00000
No further preference	298	0.24782	73.85036
No further preference	11	0.07275	0.80025
No further preference	287	0.02651	7.60837
No further preference	82	0.00657	0.53874
No further preference	3	0.00192	0.00576
Not transferred due to rounding			0.00000
	Total		814.87267